
Fact Families

1. Which number sentence does not 

match the counters in these ten frames? 

4. James bought some strawberries and 

limes. He writes some number facts 

represented by the fruit.

Which facts are the odd ones out. Explain 

your answer.

2. Use the bar model to complete the 

number sentences below.

5. Olivia says,

Is she correct? Prove it. 

3. Write four sentences to describe the 

fact family shown in the part-whole 

model.

6. Using the digit cards, find 3 different 

ways to complete the fact family. Use the 

same digit cards for each of the 

calculations in the fact family.
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12 + 8 = 20

20 = 12 – 8

20 – 8 = 12

20 = 8 + 12
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I can use the numbers 18, 

8 and 9 to write a fact 

family for these 10 frames.
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9 + 7 = 16

16 = 20 – 4

16 – 7 = 9

9 – 7 = 16
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Fact Families

1. 20 = 12 – 8

2.

3. 14 + 3 = 17; 3 + 14 = 17; 17 – 14 = 3; 17 – 3 = 14

4. 16 = 20 – 4 and 9 – 7 = 16 are the odd ones out. 16 = 20 – 4 is an odd one out as it 

unrelated to the strawberries and limes. 9 – 7 = 16 is an odd one out as although it uses 

the numbers represented by the strawberries and limes, the calculation is incorrect.

5. Olivia is incorrect as there are 10 solid counters and 8 outlined counters. This means 

the numbers that she should have used to write a fact family for the tens frames are 18, 

10 and 8.

6. Various answers, for example:
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11 + 7 = 18 7 + 11 = 18

18 – 7 = 11 7 = 18 – 11

9 + 4 = 13 4 + 9 = 13

13 – 9 = 4 9 = 13 – 4

8 + 5 = 13 5 + 8 = 13

13 – 8 = 5 8 = 13 – 5

7 + 6 = 13 6 + 7 = 13

13 – 7 = 6 7 = 13 – 6


